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This Question Paper consists of 34 questions including Part-A and Part-B.
Part-A consists of questions related to the Employability skills and Part-B
consists of the questions related to Automobile.
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Ensure that, the Versmn of the question paper dlstnbuted to you and the
Version printed on your admission ticket is the same.
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on - A/ PART - A

I. Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :
3xXx1=3

1. "Sham bought a pen; he has a great pen collection." The pronoun

in this sentence is

(A) Sham (B) bought

(C) he (D) has

2. Ravi works hard to get the best student award at the end of the

year. What type of motivation is this ?

(A) Internal

(B) External

(C) Both internal and external

(D) Not any specific type of motivation

3. The valid file extension for notepad file is

(A)  Jjpg (B) .doc

(C) .text (D) .txt
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II. Answer the following questions : 2x1=2

4. Why is enter key used in the computer ?

S. Write any two basic ways in which people can help to sustainable
development of goals.

III. Answer the following questions : 2x2=4

6. What is time management ?
OR
How do you find your weakness ?

7. Mention four qualities which should have to become a successful
entrepreneur.

IV. Answer the following question : 1x3=3

8. Explain the meaning of verbal communication. Write its
advantages and disadvantages.

>N - B/ PART - B
V. 3 NS IIR0R oFme oFRer Tewdnen mowy sodneRy derwdnd.
OPYNEY T, ARFINT LOITITY, ©OR, ©TT FINRFTTBRONR Frr
UG TTR, WD 7Tx1=17

Four alternatives are given for each of the following questions /

incomplete statements. Choose the correct alternative and write the

complete answer along with its question number and alphabet :

9. TR, BOVI'TY, VOPTBI), TRSRFYTIE, VTOIRENTIT Fess
(A) 3RTB (B) wodnsdewdt®

(C) w8 AT (D) Terodoeedot
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10.

11.

The unit used to ignite the fuel in the petrol engine is

(A) Spark plug (B) Carburetor

(C) Push rod (D) Radiator

T B[R, MR Y GUBOR

(A) ©T P WOPRFT0 w0008 (B) DA BOPRE 50 Je5003
(C) P ROPRF T Qw00TT (D) @m%ae

Observe the analogy and answer :

Vegetable oil : liquid lubricant : : Grease : .......c..ccceune.e. .

(A) Semi-solid lubricant (B) Gas lubricant

(C) Solid lubricant (D) Emulsion

msswmq DT TV WA FYR FOO0F VEWE 0[O0 BT RO

VRTTED
(A) S ess S0 (B) T 30,AT°

(C) QT 333@2 OF*

el

(D) e W, SIT°

The equipment that helps to lift the vehicle and to carry out the

work under the chassis is

(A) Pneumatic wrench (B) Air compressor

(C) Two-post lift (D) Wheel balancer
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12. %000 BITYT AOFIT POT* mw;gaé QT

(A)  BUR 20FTR) ADOBOS LINB BOPNTOZ BRRTH

(B) 2033w ?Ngcéw@t FRR0 BREZT

(C) L0TIT WBTR) émw nogs

(D) TR MY QORT ZRTN T,[edRITT
The fuel filter is clogged in a vehicle. It

(A) Makes more fuel to flow inside the cylinder

(B) Reduces the fuel pressure

(C) Increases the fuel pressure

(D) Allows more air enter into the engine

13. 3PNTRJNT SR S50 wﬂwﬁ@odo ONE, ?
(A) Tekodoe3st (B) FIREAET
(C) BRdon T (D) WoIeF
Which of the following is NOT a part of cooling system ?

(A) Radiator (B) Thermostat

(C) Cooling fan (D) Bonnet
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VI.

14.

15.

xepe @@f\)@% evZo3Reen

(A)  237TIY, STONTLD (B) I w3 Sricden
(©) zirae@; B3 WNJIRELY (D) I3 ST WOTILD

A stub axle is used for

(A) Rotating the wheel (B) Opening the nut
(C) Tightening the bolt (D) Folding the nut
239, £300000%8 ST, DT, T TOCIDTWOZ IEOINT YVTTTEI
(A) fgpecjwezss Q00T 3 (B) 3RI=

(C) TeF-T3e3 T (D) ANTI® FoCNS*

The device that avoids the flow of current from battery to the
alternator is

(A) Voltage regulator (B) Spark plug
(C) Cut-out unit (D) Ignition coil
TAYTT UZTROT WU DT TYRTY HIF TRE : 4x1=4

Fill in the blanks with suitable answer :

16.

17.

18.

19.

28T asmf@q%s@e @bstu@mw T i, .

Nowadays the gear used to final drive is .................... .

WA W WRWIT  BONT IR, 30T PO
FBO30ZTT.

The tube and tubeless tyres are called ..................... tyres.

W SEFDY v 00T SBPRTITVT.

Mallet is made up of ............coeeene. .

IBINGY, TBRTON  BRGOEFTY v
WTROUTIER.

In general the coolant is changed in a vehicle ............... year once.
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VII. 20.

ATREONY SRR/ OT  wuTFONY  TERNNTRy TN
B-J30509, BR[OS UOTFOEINETY QeTBSONT. SYNETY BROAY
LOZTNERY, T,3I0FTWATE WICW0 4x1=4

Uses of automobile tools are given in Column-A and
automobile tools are given in Column-B. Match them and
write the answer along with its letter of alphabet : o)

A-T&3 B-T&3 oeiis
eJ eJd
Column-A Column-B

i) dpeezezss, AVESCY) @@&mezm@% I IREL  a) Qe méeﬁa’gps

To measure voltage, current and Wheel balancer
resistance

i) DOF MOTOTBI) w8 BRBLD b) AR, e
To measure specific gravity Screw gauge

iii) ©3 ALY  ©OITNFTY, JTezoN BPS/RTELY  ¢) DT FOF,AT°

To measure very small distance Air compressor

precisely

iv) DT LTIT BT L0BTHI) 993 TR d) ONRIIARI oy

To measure distance between two

opposite sides Multimeter
e) ToWFNL

Wrenches
) BT

Hydrometer

g H,IOTFE

Calipers




CCE RF(A)/101/1873 | 88-EK (Level-2) |

VIII. 32 3¢NS T,3nen wvgdx 4x1=4

IX.

Answer the following questions :

o]

21.

22.

23.

24.

Ok
238,000 WONCH TRTBBNY SH0R R0t SEREEAY S QouI N
DBRTR), &R

Mention the types of automobile engines based on the cycles of

operation.

3,08 ATIC0R), 9,509,9R.

Define viscosity of an oil.

CINTYTIOTITR DTRE §; GUTFTEINTI), S9R.

Mention any two hand instruments.

FE T WARE ¥, 000, FIOF ST V0T T9,WOTH/R), WEROTIT.
0% ?

In night vision assist technology thermal imaging cameras are

used. Why ?

2:89nT I Znent eugon : ax2=8

Answer the following questions :

25.

26.

0T BOTATT i} 3T 3 WTOWDO.

Write a short note on Air compressor.

‘309, 0T TOTAY' T E,B/IY, WD

Draw the diagram of "hand hacksaw".
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27. TTIT DT LOT BT WTSWRITON OTORORUICTOT TOBNTR), T,
RRE.

R R

List the steps to be followed while changing the air filter of a
vehicle.

28. TOTIT BITFZ® 3,33 QY “FoTermTodew Movesee)’ ;W ODTY DB|OR.
Explain the "sensitive air bag system" in a vehicle safety system.

&5 /OR

DIBIT ROTFZD 33,57 030, ‘e:aozﬁa; BET MOTIERINT 0BT, DBOR.

%]

Explain the "Blind spot detection" in a vehicle safety system.

X. @3NS I3nen wgon 3x3=9

Answer the following questions :

29. 2I3,830030 CINWYTOTIR ToL, WSOFRONTI) WTOWD.
Write any four advantages of a battery.

30. Mo,3®T FewOW 30T LOINTFR), Ted, BHE.

List the important aspects of customer service.
&5 [OR

SERINYY S  [RTIWMTI  ABFLIWETT  CSRRPTBTR ST
BSEW,MTTY, TeS BRE.

List any six duties performed by the automobile salesperson.
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XI.

31. OTINTIY, ~ IRFODLO  FRATIND BNV BRTWEINGY,
B i
SUBO3RENTLIITT. 98 2 ;
[Orss %
Soaps and detergents should not be used while washing vehicles.
Why ?
3: 99T B 3nent wogor 3x4=12
Answer the following questions :
32. TTIT TOOWROD LU T30 THOWFNTR), WICWO.
Write the main functions of front axle of a vehicle.
33. PO 238,330, WBOD. FPNI WONNT) TOTOSR

(i) oD
(i) &0

Draw the diagram of file and label the following parts :

(i) Face
(ii) Tang

&5 /OR
masmceﬁ Z%Z?‘)ﬁdzl WBOD. FPNI ?.;Taﬁm’?\iao{ N8R
(i) 0=
(i) =200
Draw the diagram of hammer and label the following parts :

(i) Handle

(ii) Face
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34. [R,0NS* LEITNOT TBINTTY xwzam@ma QTITZ/IY, WeIOA.

Explain the procedure for washing a vehicle manually.

&5 [OR
TOBIT BRSO @5;% WTTOROR @mms& DO,

Explain the procedure for changing the coolant of a vehicle.
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